Exercises for lecture 1 @

1 Read Weinberg’s book, chapter 1

2 On the video, go to ~40 min. (start of page 3 of the notes), and show the missing passage:
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3 On the video, go to ~56 min. and consider the integral:
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Get an approximate solution to it (without resorting to integral tables or software like Mathematica)
and show it is not zero for x >> t (outside the light cone).

(Tip: the pointis to learn the Saddle Point approx., or in this case with the complex exponential, its
“complex version’, the Stationary Phase Method).



